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1. .Answez‘ in not more than two sentences. :(— 20

) What is meant by 'award' under the 1.D. Act, 1947 ?
) Define 'Lock-out' under the 1.D. Act, 1947 ?
) How is the term 'Strike' defined in the 1.D. Act, 1947 ?
v) What is retrechment under the |. D. Act, 1947 ? '
) Define the term labour court.
) What is the object of Workmen's Compensation Act, 1923 ?
) What is the amount of compensation a workmen can get where permanent total drsablement
results from the injury under the W. C. Act, 1923 ? ,
(viii) The LLE (S.0) Act, 1946 is applicable to which industrial establlshments
(ix) What is meant by 'Standing Orders' ? ,
(x) What is the duty of Labour Court under M. R TU and PU.L.P Act 1971 1

oo

2. Write short notes on any four of the followmg o i A
sl (a) 'Industry' under 1.D. Act, 1947. : fesiaa Tl
(b) ‘Industrial Dispute' under I.D. Act, 1947. S e Bt ; /
(c) Employer's liability for compensation under W.C. Act, 1923. e f5)
(d) Procedure for dealing with complaints relatlng to unfarr labour practices, under M. R TU
and P.U.L.P. Act, 1971. :
(e) Unfair labour practrces on the part of employers under M R. TU and PU L. P.',
Act, 1971.. ;
(f) Define 'Employer' under LE.S.C. Act, 1946 and mention the penalties that can be rmposed
on the employer who does any act in contraventron of this Act. .« S R
3. Answer any two of the following :— L e R TR

(a) Workmen who were employed in an Industrial estabhshment went on strike! whrle
the conciliation proceeding was pendrng before a Board. ‘ : :
(i) Is the strike legal or illegal ?
(i) Is there anv general prohibitions on s’mkes under the 1.D. Act, 1947 '7 Explain. .
(b) A workman was if jjured during the course of employment and was awarded compensatron
by the Workmen's Compensation Commissioner. The employer does not.accept the
Irabrlrty for compensation to the extent claimed. A :
(i) Is the employer bound to make any provisional payment based on to the extentﬁ
of liability to which he accepts ? - W) G Wb
(i) 1If there is no justification for the delay in paying the compensation due can
penalty be imposed on employer ? Support your answer with relevant provrsrons
of W. C. Act, 1923. 2
 (c) A proceeding of Unfair Labour Practice was pending before the competent courts
of M.R.T.U. and P.U.L.P. Act, 1971. When the matter was called on for hearing either
parties did not appear though notice of hearing was duly served for both:the parties.
(i) Are courts empowered to pass exparte orders under such gircumstances ?
(i) What remedy is available to aggrieved party under such circumstances ?
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4. Answer any four —

(a)
(b)

Define and explain the term 'Workman' under the 1.D. Act, 1947 ? \
What are the different authorities under the 1.D. Act, 1947 ? Briefly explain the p&,
and duties of the authorities.
Explain the obligations and rrghts of recognised unions under M.R.T.U.
P.U.L.P. Act, 1971 ? ‘ e
Briefly explain how the commissioner is appointed under W. C. Act 1923 7 What are
the functions and powers of commissioner ? 5 \
Define certifying officer and explain the powers of certifying officer under LE, (S 0.)
Act, 1946 ? Explain the procedure for certmcatron of draft amendment of standrng

-orders under the Act ?

What is collectrve Bargaining ? Explarn the merrts and demerlts of Collectrve Bargarnlng
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1. Answer in not more than two sentences :— 20

a) What is the object of the 1.D Act, 1947 7

What is meant by ‘Award’ under 1.D Act, 1947 7
Who all are not included under ‘workman’ as per 1.D Act, 1947 ?

d) What is the penalty for closure without notice under 1.D Act, 1947 7

e) ‘Office Bearer in relation to a trade union, under 1.D Act, 1947 includes any member of
the there of, but does not include i

(f) What is meant by ‘Total Disablement’ under W. C. Act, 1923 ?

(g) What is the compensation payable under W. C. Act, 1923, where death of a workman
results from the injury in the course of his employment ?

(h) Industrial establishment under I.E. (S.0.) Act 1946 means

(i) Appellate authority under LE. (S.0.) Act 1946 means
() Whois a ‘Member under the M.R.T.U & P.U.L.P Act 19712
2. Write short notes on any four :— 20

(@) Industrial Dispute under 1.D Act, 1947.

(b) Lay-off and retrenchment under 1.D. Act. 1947.

(c) ‘Workman’ under W. C. Act, 1923.

(d) ‘Employer under LE. (S.O.) Act 1946.

(e) Procedure for dealing with complaints relating to unfair labour practices under the M.R.T.U
& P.U.L.P Act 1971.

(f) Procedure for recognition of union under the M.R.T.U & P.U.L.P Act 1971.
3. Answer any Two — , 12

(a) The employees of a public sector under taking resorted an action called 'Pen down’ as
per a call given by their union without notice. The management initiated action against
them stating that the action amounts to ‘lllegal Strike’.

(i) Does ‘Pen down’ amounts to Strike and require notice as per [.D. Act 1947 7
(i) What does a strike becomes illegal ?

(b) A workman-leaves his work place during lunch hours to have lunch from near by hotel.
While coming back to his workplace, he met with a accident and sustained permanent
disability.

(i) Whether his employer is liable to pay compensation to the workman 7
(i) s there any defence available to the employer in this case ?

(c) X aworkman who was also an active leader of trade union was transferred to a distant
workplace as per the transfer policy of the Company. The Human Resources Manager
of the Company induced him to join a Trade Union sponsored by the management and
on doing so he was retransferred to the original place on medical grounds.

(i) Is the action amounting to unlawful labour practice ?
(i) - Can the original union of the workmen challenge the transfer ?
4. Answer any four :— 48

(a) Explain the term ‘Industry’ under 1.D Act, 1947 with case laws.

(b) What are the different authorities under 1.D Act, 1947 ? Briefly explain powers and duties
of the authorities.

(c) Briefly explain the Employers Liability to pay Compensation under W.C. Act, 1923 with
case laws 7
Explain the object, scope and features of L.E. (S.0.) Act 1946 7

(d)
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1. Answer in hot more than two sentences .— 20
(a) Average Pay under |. D. Act, 1947 means the average of the wages payable to the
work man.
(i) In the case of monthly paid workman in _ months.
(i) In the case of weekly paid workmen in ___ ___ weeks.

(b) ‘Employer’ under I. D. Act, 1947 means
(c) ‘Wages’ under . D. Act, 1947 means :
(d) What is the Duty of Conciliation Officer under I. D. Act, 1947 ?

(e) What is the penalty for any person who instigates a strike which is IHegal under

I. D. Act, 1947 ?

(f) Seamen under W. C. Act, 1923 means
g) Wages under W. C.-Act, 1923 includes
h) I. E. (S. O.) Act, 1946 applies to
(i)
)

(
(

i) What is the object of I. E. (S. O.) Act, 1946 ?
(i) ‘Order’ under sec 2 (12) of M. R. T. U. and P. U. L. P. Act, 1971 means an order
of the or :

Y

—~ 2.  Write short notes on any four of the following :— 20

(a) Workmen’ under [. D. Act, 1947.

b) Strike and Lock-out under |. D. Act, 1947.

c) Appointment and powers of Commissioner under W. C. Act, 1923.

d) Procedure for Payment of subsistence allowance under 1. E. (S. O.) Act, 1946.

e) Obligations and Rights of recognized union under M. R. T. U. and P. U. L P.
Act, 1971.

(f) Unfair Labour Practices on the part of employers underthe M.R.T.U.and P.U. L. P.
Act, 1971.

S~~~ o~

3. Answer any two of the following :— 12
(a) A company shifted its place of business to another premlses two kms away, without
consulting the union or without giving notice. The union raised a dispute stating that
its amounts to change in conditions of service.
(i) Is this a valid industrial dispute ?
(i) Is it mandatory to give notice to the employees before changing the place
of business as in this case ?

(b) A workman employed as a helper died due to electrlc shock while he was helping
the company’s electrician. The management gave employment to his son as per
company’s compassionate employment scheme and obtained a letter of waiver of
compensation from all the legal heirs.

(i) Is the letter of waiver legally tenable ?
(i) Is the management liable to pay funeral expenses to the legal heirs
of the workmen ? :

(c) An investigatingn officer was refused entry to the premises of the workplace
of which the investigating officer was entitled to enter by X.
(i) Can X be punished under M. R. T. U. and P. U. L. P. Act, 1971.
(i) If so what is the punishment that can be given to Mr. X. Support your
answer with relevant provisions.

4. Answer any four of the following :— : 48

(@) Explain Industrial disputes under I. D. Act, 1947 with case laws. ’

(b) Briefly explain the procedures and powers of Conciliation Officers, Board, Courts
and Tribunals under I. D. Act, 1947. ; '

(c) Briefly explain the objects, reasons and features of W. C. Act, 1923.

(d) What are Standing Orders ? State the matters to be provided for in the Model Standing
Orders under |. E. (S. O.) Act, 1946.

(e) What are the authorities under the M. R. T. U. and P. U. L. P. Act, 1971 ? Explain the
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1. Answer in not more than two sentences - 20
(@) What is the duty of conciliation office under 1.D. Act, 1947 ?
(b) The award of Labour Court and Tribunal shall be signed by whom as per I.D.

Act, 1947 ?

Define the term Industrial Tribunal.

State one of the conditions precedent to retrenchment.

Write any one difference between Lock out and Lay off.

Define Partial Disablement under E.C. Act, 1923.

—

~ e~
S5 D O O
P P N

(@) What is the object of E.C. Act, 1923.
(h) Appellate Authority under L.E. (S.0.) Act, 1946, means —
(i) Modification under I.E. (8.0.) Act, 1946 includes what all ?
() Who is a member under M.R.T.U. and P.U.L.P. Act, 1971 ?
2. Answer any four — 20
A (a) Employer’s Liability for compensation under E.C. Act, 1923.

——

b) lllegal strike under M.R.T.U. & PU.L.P. Act, 1971.

c) Subsistence Allowance under |.E. (S.0.) Act, 1946.
d)
e)

{

Strike under 1.D. Act, 1947.
Authorities under M.R.T.U. & P.U.L.P. Act, 1971.
() Workmen under I.D. Act, 1947.

3. Answer any two — 12
(a) ‘The workmen of Morinda Coop Sugar Mill Ltd. were employed in that Sugar

Mill during crushing season only and consequent to closure of season they
ceased to work — Answer —

(i) Is it retrenchment ? Give reasons.

(i) Distinction between retrenchment and closure.

(b) A Union in an industrial establishment has 50% of total workmen as its
members for a continuous period of eight months. It plans to apply for
recognition under M.R.T.U. & PU.L.P. Act, 1971 :—

(i) s the union entitled to be registered under M.R.T.U. & PU.L.P. Act ?
(i) To which authority it shall make application for such recognition ?
3 (c) A workman leaves his workplace during lunch hours to have lunch from nearby
hotel. While coming back to his workplace, he met with an accident and
sustained permanent disability :—
(i) Whether his employer is liable to pay compensation ?
(i) Is there any defence available in this case ?

4.  Answer any four :(— 48

(a) Explain the term Industry under |.D. Act, 1947 with case Laws.

(b) Analyse the definition of workman under |.D. Act, 1947.

(c) State and explain the concept of ‘arising out of and in the course of employment’
as contemplated in the E.C. Act, 1923.

(d) What are the standing orders ? State the matters to be provided for in the
Model standing orders under |.E. (S.0.) Act, 1946 ?

(e) Discuss the procedure, obligations and rights of recognised union under
M.R.T.U. & PU.L.P. Act, 1971. ' '

() What is Collective Bargaining ? Explain the essential conditions for successful
collective Bargaining. What are the advantages and disadvantages of collective
baraainina ?
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1. Answer in not more than two sentences :— 20
(a) “Award” under industrial disputes Act, 1942;
(b) Define “Lock out™;
(c) Settlement under I.D. Act, 1947 comes into operation on which date ?
(d) Appropriate Government shall publish every award within days of
receipt;
(e) “Central Act” under M.R.T.U. and P.U.L.P. Act, 1971 means :
(f) Duties of investigating officers under M.R.T.U. and P.U.L.P. Act, 1971;
- (g) What is the rate at which subsistence allowance is payable’to a suspended
= workman under Industrial Employement (standing orders) Act, 1946 ?
(h) Period of limitation for fling claim under Employees’ Compcnsatlon Act, 1923;
(i) Model standing orders means
(j) Occupational diseases under the E.C. Act, 1923 are speaﬁcd in which schedule
2. Write short notes on any four of the following :— 20
(a) “last come first go”;
(b) Persons on whom settlements and awards are binding;
(c) Medical examination under E.C. Act, 1923;
(d) Continuous Service;
(e) Rights and obligations of recognised union;
3. Answer any two of the following :(— 12
(a) The University of M is engaged in imparting education to a lalge number of
students. Madan, a Clerk was employed in the printing press of the University
for the past three years. The University struck off the name of Madan from
the muster rolls and asked Madan not to attend duties any more.
(i) Whether the University is an industry ?
. (it) The action of University amounts to what and whether it is legal ?

(b)

(©

An employer makes an application for amendments to model standing orders
to the certifying officer. The certifying officer after hearing the employer and
workman passes an order. The employer is not satisfied with the order of the
certifying officer.
(i) What is the remedy available to the employer ?
(i) Within how many days that remedy should be availed by the employer ?
A workman employed in a salt pan while returning home after finishing work
had to go by public path, then through a sandy area and finally across a creek
in a public ferry boat. The ferry boat capsized due to stormy weather and the
workman was drowned
(i) Whether employer is liable to pay compensation to dependents of
workman ?
(i) What is formula for calculating compensation in death cases ?
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wer any four of the following :— 48

(a)

Define “Industrial dispute”. Whether an individual workman's dispute can be
an industrial dispute ?

(b) Define “Retrenchment”. What are the provisions with respect to retrenchment
under 1.D. Act, 1947 ?
(c) What are unfair labour practices ? What is the procedure for filing complaint
against an unfair labour practice ?
(d) What are standing order ? How are they certified ?
(¢) When is an employer liable to pay compensation under the E.C. Act, 1923 ?
What are the defences available to the employer ?
(f) What is Collective Bargaining ? Discuss its advantages and disadvantages.
J
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BT Answer in not more than two sentences : 20

(a) “Bombay Act” under M.R.T.U. and P.U.L.P. Act, 1971 means

(b) What is the object of the Industrial Employment (Standing Orders) Act, 1946 9

(¢) What is the minimum compensation payable in case of pcnnanent total
disablement under E.C. Act, 1923 ? -

(d) Two types of settlements under the I. D. Act, 1947;

(e) “Closure” under L. D. Act, 1947;

(f) Duties of Labour Court under M. R. T. U. and P. U. L. P. Act, 1971

(g) Date on which standing orders come into operation ?

(h) Period of limitation for filing appeal to High Court under E. C. Act 1923 7

(i) Application under S.33(c)(2) of the I. D. Act, 1947 should be ﬁled before
which authority ?

(i) Minimum and maximum protected workmen in an industrial estabhshment

N
2. Write short notes on any four of the following — 20

(a) Appropriate Government under I. D. Act, 1947; ‘ '
(b) Rights of an unrecognised union under M. R. T. U. and P. U. L. P. Act 1971;
(c) “Contracting” under E. C. Act, 1923;
(d) Notice of change;
(e) Public utility services
(f) Industrial Establishment under I. E. (S.0.) Act.

3. Answer any two of the following :— 1 12
(a) EFG company appoints Dr. Shashi as a medical officer to check health of its
workmen from time to time. After two years the company terminates the
services of Dr. Shashi. The Union of workmen takes up the cause of
Dr. Shashi with the management of the company.
\_ (i) Whether Dr. Shashi is a workman ? -
(i) Whether the dispute raised by the Union is an mdustrlal dispute ?
Why ?
(b) ABC Union has got 34% membership of total workmen employed in the
establishment and it applies for grant of recognition. Another Union XYZ
objects to ABC Union’s application on the ground that it has got 36%
membership of total workmen in that establishment. .
(1) To which authority the application for grant of recognition has to
be made ?
(ify XYZ Union is deemed to have applied for recognition in which month ?
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(¢)

Krishna Kumar was employed as a lorry driver by Mulkund Transport Co. Pvt.

Ltd. While driving a lorry of said Transport Company the lorry meets with «

an accident and Krishna Kumar’s right leg is amputated below the knee.
(1) What is nature of disablement suffered by Krishna Kumar ? Give
reasons. '
" (ii) How is compensation calculated in cases of injuries resulting in
permanent disablement ? ‘

4. Answer any four of the following :—

(@)
(b)
(©
(d)
©)
®

Define “industry” under the I D. Act, 1947. Hlustrate your answet with case
laws. .
Who is an “employee” under the E. C. Act, 1923 ? [llustrate your answer
with case laws.

Which are the authorities under the M. R. T. U. and P. U. L. P. Act, 1971 ?
Discuss their functions and powets. o

What are standing orders ? How are standing orders certified ? What is
procedure for modification of certified standing orders ? i

Define “retrenchment”. What are the provisions regarding retrenchment under
the I. D. Act, 1947 ?

What is collective bargaining ? Discuss its merits and demerits.
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1)
1. Answer is not more than two sentences. 20
(a) Define the term ‘Industrial Tribunal’;
(b) “Closure’ under:L.D.Act,1947;
(¢) ‘Employer’under1.D.Act,1947 means;
(d) Define Appellate Authority under L.E.(S.0.) Act,1946;
(e) UnderLE.(S.0. ) Act 1946 ‘modification’ means ——;
(f) Date on which standing orders come into operatxon
(g) Period of limitation for filing claim under E.C.Act, 1923;
(h) What is the obj ect of E.C. Act 1923 ?
(i) “Central Act’ under M.R.T.U. & P.U.L.P. Act 1971 means——— ;
(j) Duties of Labour court under MR.T.U. & PU.L. PAct 1971.
2. Write short notes (any four) :— 20
(a) “Workman’under 1.D.Act,1947,
(b) Notice of change]
(c) Labour Court under I.D.Act 1947;
(d) Subsistence Allowance under LE.(S.0.) Act 1946;
(¢) Employer's Liability for compensation under E.C. Act,1923;
(f) Authorities under M.R.T.U. & P.U.L.P. Act, 1971.
3. Solve any two of the following :— 12

(2)

(b)

(<)

A company shifted its place of business to another préemises two kms away,
without consulting the union or without giving notice. The union raised a dispute
stating that it amounts to change in conditions of service.
(i)  Isthisavalid Industrial Dispute ?
(i) Isit mandatory to give notice to the employees before changing the
place of business as in this case ?
Ram Kumar was employed as a lorry driver by Mukund Transport Co.Pvt.Ltd.

While driving a lorry of said Transport Co. the lorry meets with an accident -

and Ram Kumar' s right leg is amputated below the knee.
(i)  Whatis the nature of disablement suffered by Ramkumar ? G1ve
reasons.
(ii) How is compensation calculated in cases of injuries resultmg in
permanent disablement ?
XYZ Union has, got 38% membership of total workmen employed in the
establishment and it applies for grant of recognition. Another Union ABC
objects to XYZ, Union's application on the ground that it has got 40%
membership of total workmen in that establishment.
1) To which authority the application for grant of recognition has to be
made ? Why ? -
(ii) ABC Union is deemed to have applied for recognition in which

month? A [ TURN OVER
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4. Answer any four of the following :—

(a) Explain the term Industry under I.D.Act with relevant case laws.

(b) Define ‘Retrencfunent’ What are the provisions regarding retrenchment under
ID.Act.19477 ' 4

(c) Define collective Bargaining. Explain the essential conditions for Collective
Bargaining alongwith its disadvantages. ' '

(d) Whatare Standing Orders ? How Standing Orders can be certified ? What is the
procedure for modification of Standing Orders?

(e) Stateand explain the concept of arising out of and in the course of employment
udner E.C.Act 1923. - .

(f) Explain Tllegal strike arid lock out under M.R.T.U. and P.U.L.P.Act.1971.

)
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1. Answer in not more than two sentences —

(a)
(b)
(©
(d)
(e)
®
(g)
(h)
@)
G)

Closure under 1.D. Act, 1947 9

Defme industrial tribunal.

Give two unfair labour practices on the part of employer.

Give two example of illegal strike under MRTU and PULP Act.

Defme partial disablement under WC Act, 1923,

Central Act under MRTU and PULP Act, 1971 2

Date on which standing order comes in operation.

Which Court shall try offences under IE (SO) Act, 1946.

The award of Labour Court shall be signed by whom under ID Act, 1947.
Write to objects of ID Act, 1947. '

2. Write short note on any four of the following :—

, @
. (b)
©

@

©

()

Authorities under MRTU and PULP Act

Procedure for payment subsistence allowance under the IE (SO) Act, 1946.
Strike and lockout under ID Act, 1947, . '
Labour Court under ID Act, 1947. .

Workman underWC Act, 1923. ; .

Arising out of and in the Course of employpent.

3. An_swér any two of the folloWing =

@)

()

(©)

A union has got 38% membership of total workman employed in the establishment
and it applied for grant of recoganization.
Another union objects ‘on the ground that it has got 40% membership of the
total amount of workman in that establishment.
(i) To which authority the Application for grant of recognization has to
be made. o :
(i) Give the two duties of recognized Union.
A workman leaves his workplace during lunch hour to have his lunch from
nearby hotel while coming back to his work place he met with an accident and
sustained permanent disability. Co ' »
(1) Is the employer liable to pay compensation? Give reasons for your
answer.
(i) What is the defence avajlable to the employer.
An award passed by the Tribunal giving higher pay scale to the workman. The
employer terminates the award after one year.
The employer after the termination of the award makes payment of wages at the
scale prevalent prior to passing of award.
(1) Whether the action of the employer of reducing wages is legal.
(i) How long does the award remain in operation ?

e\ 4

20

20

12 -
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4. Answer any four of the following :— ' 48

(@)
(b)

(©

(d)
(e)

®

Give the authorities under the ID Act, 1947.

Define Workman and state who are not workman under the ID Act 1947 with
case laws. :

Briefly explain object scope and matters to be provided for in model standmg
orders under the IE (SO) Act, 1946.

Explain collective bargaining and give its merits and demerits.

What is occupational disease what is the extent of liability of an employer in
such a case.

Discuss the procedure obligation and rights of recognized Union under the
MRTU and PULP Act, 1947.
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1. Answer in not more than two sentences i— ' _ ' A\;Q 20
(a) Whatlstheob_]ectofMR.TU&PULP Act, 19717 C;"
(b) Define “Partial disablement under E.C.Act,1923. b
(e) ' Wihio all are' not included under * “Workraan™as per i 1.D. Act, 104 (Zﬁ“‘
(d) Discuss any two duties of “works committee™ "Z‘“’J
(¢) What is the object of E.C. Act,1923? n}
(). LE.(S.0)Act, 1946 applies to? é} .

N~ () Define “Strike” under LD.Act, 1947.

' '(h) Discuss any two powers of “certifying ofﬁcer” unde% E. (5.0) Act, 1946
(i) “Model standing Order” means?

(G) Whoisa “member” under M.R.T.U and P.U.Ié.\ Act, 19717

O
2 Write short notes on any four :— x;@ 20
(a) Public Utility Services. L '
(b) “Industry” under L. D. Act 1947.
~ - (¢) Notice of Change. ' \{\V
. {(d) Occupational Diseases. f\\/\ '
-.(é) Retrenchment.
(§3) Procedure for recogmtm@fumon under the M.R.T.U &P.U.L.PAct, 1971.
& - | |
4 So‘veany two . . O . 1

L (1) ‘An employer makesan apphcatlon for amendments to model standing orders to
' ‘ - the certifying o%;%er The certifying officer after hearing the employer and work
man passes qil\o der. The employer is not satisfied with the order of the certifying
officer. O
< U
(i) I * Whatis the remedy available to the employer?
{.{11 W1th1n how many days that remedy should be avalled by the employer?
A v |
(> An mvesugatmg officer was refused entry to the premlses of the work place of
which the investigating officer was entitled to enter by ‘X’.

- [Turn over
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£

@ Can X’ be pumshed under MR.T.U and P. ULPAct, 19712 O
(ii) - Ifso'What is the punishment that can be givento ‘X’. Support your (‘i(“
answer with relevant provisions. \ff/
| . | | e i
- (3) A workman leaves hlS work place during 1unch hours to have lunch frog}ﬁearby
hotel. While coming back to his workplace, he met with an accident az.xd*sustamed
permanent dlsablhty . o ' Kj;\‘l

3

G . ‘Whether his employee is hable to pay compensat{x‘é%??
(n) Is there any defence available in this case? Q\

4 Answer any four of the following. - | : %\ . ’ 48
- (a) Stateand explam the concept of ansmg out annd in the course of employment

o under E.C.Act, 1923. @

(b) .- What are the “Authontles » Under LDGACL, 1947. :

(c): Define “Industrial D1spute Wheth@:gn individual workman’s dlspute can be
industrial dispute? q, ' X

(d) . “Explain collectlve bargaining. ’e}te its Merits and Dements

(e) Whatare “unfair labour pract\kes” ? What is the procedure for ﬁlmg complamt

. against an unfair labour prac ce? . - ,

(f) ‘What are “Standing or@%”? What are the matters to be provided for inModel
standing orders undegie LE. (S.0) Act,1946. o
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1. Answer in one and two sentences : - 20
: (a) Who declares ‘Lockout’and who declares ‘strike’?
(b) Give two grounds for declaring ‘Lay Off’ under ID Act.
(c) 'Which court can take ¢ cognizance’of offence under MRTU & PULP Act ?
(d) What Trade Union can do for seeking ‘recognition’under MRTU
& PULP Act ?
(e) What do you mean by Model Standing Order ?
(f) What do you mean by ‘Employment injury’?
(g) Whether written demand necessary for ralslng indusirial dlsputes under
ID Act ?
(h) What is the meaning of ‘during the course of employment and out of
employment’under E.C. Act.
(i) Give two misconducts under S.O. o
(G) Canan establishment be re-opened after clesure is effected under ID Act?

s

2 Write short notes on any four : 20
(a)  “Lay-off” Compensation undet D Act
(b) “Retrechment” compensatioin under ID Act
(¢) “Recognition of Trade Urions” under MRTU & PULP Act
(d) Rights of “unrecognizad” Union under MRTU & PULP Act
(e) “Model”Standing Orders under LE. (SO) Act.
(f) Permanent Disability

3. Solve any two : . . 12
(a) Employee was pursuing his fellow employee to join an unrecognized
trade »pion. When employer learnt it, he transferred him under
management policy.
(1) Is it anyway unfair labour pract1ce under MRTU Act ?
(i) What action employee can take under MRTU Act ? 4
(b, One person religiously comes daily and sweeps and cleans the floor of
the Temple. The Temple Trustees even pays for sweeping and cleaning
the floor. One day, Trustees disallowed sweeping and cleaning of the
floor and made it clear that no payment will be made to him for sweeping

(TURN OVER)
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2

and cleaning the floor. The Temple has many shops and those are used
for selling necessities of the devotees. Temple also has rooms which
are given to devotees coming from outstation on payment of charge:.
(i) Can the person claim to be a ‘workman’ and raise an indusirial
dispute ? }
(ii) Is temple an ‘Industry’under the ID Act ?

A resident deployed a workman for repairing his terrace of the house.

(i) Is resident an employer under E.C. Act ?
(i) Will workman be entitled to claim compenstaion, it he was deployed
by Contractor who is taking Builiding Repairing Work ?

4. Answer any four of the following.

(2)

(b)
(c)
(d)
(e)

®

Discuss Modern Theory of ‘Collective Bargaining’and advantages/
disadvantages of ‘Collective Bargaining’

Explain ‘Conciliation’and ‘Settlement'under ID Act.

Discuss ‘Casual’, ‘Temporary’and ‘“easonal’ workmen under ID Act.
Discuss ‘Workman’and ‘earning capacity’of workman under E.C. Act.
Discuss unfair labour practices ¢n the part of Trade Unions under MRTU
& PULP Act. : \ ;
Discuss punishments for proved misconduct under the LE. (_SO)Act'. :

FN-Con. : 2930-15.
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1. Answer in not more than Two séntences each :—
(a) Define ‘Lockout’ under I.D. Act, 1947. o
(b) ““Permanent Total Disablement”’ under E.C. Act, 1923 means\
(c) Define Appellate Authority under L.E.(S.0.) Act. &
(d) Commissioner under E.C. Act, 1923. - ;:';
(e) Retrechment under 1.D. Act means? @

(f) What is ‘Industrial Dispute’ under 1.D. Act, 19477 é\‘

(g) Standing Order means? \X\

(h) Who is ‘member’ under MR.T.U. & P.U.L.P X‘ct 19712
(i) Any two powers of certifying officer underdiE. (S.0.) Act.
(j) Object of Industrial Disputes Act, 1947. Q\b

<"’<<

: %4
2. Write short notes on Any Four :— ,§> 20 -
(a) Industry under 1.D- Act. '
i (b) Arising out of & in the course ployment.
: (c) Procedure for payment of sq@lstence allowance under LE.
" (S.0.) Act.
(d) Employer’s liability for cq;d)pensauon under E.C. Act, 1923.
(e) Certifying officer und%r\\QE (S.0.) Act, 1946.
_ 5 v ol
3. Solve Any Two :— “;\ ' ' 12
~ (a) An employer malgés an application for amendments to model
standing ord the certifying officer. The certifying officer
after hear \the employer & workman passes an order. The
employ not satisfied with the order of the certifying officer.
: \“‘What is the remedy available to the employer?
Within how many days the remedy should be availed
x;:f‘ by the employer?
(b) «Aresident deployed a workman for his house repairs.
- (i) Is a resident “Employer” under E.C. Act, 19232
e (i) Will that workman be entitled to claim compensation
N for his rights under E.C. Act, 1923? -

[ TURN OVER
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(c) One person was working for cleaning & sweeping the floors
of a temple. He was appointed Uy a trust of temple.
(i) Can the person claim as ‘workman’ under I.D. Act,

4 Write Any Eaue s : 48

(a) Discuss modem theory of collective bargaining & its advantagas
& disadvantages. Ty

(b) Explain in detail the Authorities under LD. Act, 1947. <

(c) Define Lockout & Closure & explain in detail the Hvisions

- related thereto for lockout & closure under 1.D. Att,) 1947.

(d) Explain Illegal Strike & Lockout under M.R. 1‘@” & P.U.L.P.

Act, 1971. ’b”
~ (e) What is occupational disease under E.C. Act?f@xplam i ki

of liability of cmployer in such case.

(f) Discuss Unfair Labour Practices unde%\M R.T.U. & P.U.L.P.

Act,. 1971
- &
v
-
| (tm&;%vn'm)
) w [ wegor o : o0
e
‘\x
TH far €T¢f W@ﬁ fost - ' R0
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1. Answer the following in not more than two sentences 20
(a) Write any two advantages of collective bargaining. 0
(b) What is the main objective of industrial Disputes Act, 1947 2.
(c) Give any two reasons which can make a strike as illegal.
(d) What do you mean by 'Settlement' under the Industrial Disputes Act,
1947.
- (e) What is an' award' under the Industrial Disputes Ac‘f 1947 7.
- () Give two grounds for declaring lay off. ¥
(g) What do you mean by Model Standing Orders
(h) What do you mean by Subsistence Allowan\_ &7
(1) Name any two authorities under the Industrlal Disputes Act, 1947.
(i) What do you mean by Occupationai Daﬂﬁlse under the Employees
Compensation Act, 19237, v

2. Write short notes (any four)
(a) Appropriate Government under,_;
(b) Industry under the Industrial Dibputes Act, 1947.
(¢) Recognition ofTrade Union vinder MRTU & PULP Act, 1971.
(d) Permanent disability of a
(e) Notice of change.
(f) Procedure for canceli@iﬁﬂ’g recognization of trade union.

"~ 3. Situational problems (any two) ' 12
(a) Workers resorted to strike in a public utility services industry in which
some of thetn resorted to violent demonstrations, acted in defiance of
law & OI‘dEl and there were others who were merely silent spectators.
The stnkﬂ was declared to be illegal.
(1)~ Can punishment of dismissal or termination be imposed on all
V" workmen or only on those who fomented illegal strike & did
acts detrimental to the maintenance of law & order.
(i)  Can a joint charge-sheet be given to all workmen or only
individual charge-sheet be given to some of them.

[TURN OVER]
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(b) A probationer technical workman was charge - sheeted for riotous or
disorderly behaviour outside the place of work.

@

Was the employer required to charge-sheet the said workmen
much less conduct departmental enquiry.?

(i)  If domestic enquiry is necessitated in the above case, 1s the

delinquent employee entitled for copy of document submltth
to Enquiry Officer but having no bearing on charges apd not
relied upon the examination. :

e

[,, S

(¢) An employer employed a workman during duty hours to do his personal

house

work. While executing the work, he sustained i injuries on his hand

due to which he was not able to report for duties for 7 days.

@)

Will the employer be liable to pay compensation to his workman.

(i)  In the above mentioned case, if the workman had sustained

4. Answer the
(a)

(b)
(©)

(d)
(e)
()

injuries on his hand while working i n f lie employers factory,
would he entitled for compensatlon ¢ven if he had not used
safety gloves.

following essay type of questmns 48
Define 'Retrenchment'. What are the provisions regarding
'retrenchment' under the I.DZAct, 1947 2

What is the procedure for'certification of standing orders.?

What kinds of injuries aré compensated for under the Employees
Compensation Act, 1923. Discuss.

Discuss the poweﬁ & functions of various authorities under the M.
R.T. U. & P. U..L. P,,Act;1:971

What is collective bargammg ? What are the tactics or strategies in
collective bargammg

Define strike under the 1.D. Act, 1947. State the provisions as to
prohlblflons of strikes in the Public Utility Services under the L.D.
Act 5147
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Answer in One or Two sentences .\— 20

(a) Define the term ‘Lockout’ under I. D. Act.

(b) Any two powers of cerfifying officer under I. E. (S. O.) Act.

(c) Write any two points of difference between lockout and closure.
(d) Which union can apply for registration as a recognised union.
(e) Who is employer under |. D. Act.

(i What is Average Pay ?

(9) What is modification under |. E. (8 O.) Act.

(h) Wages under 1. D. Act does not include .

(i) Objectof M. R. T. U. and P. U. L. P. Act.

() ‘Commissioner’ under E. C. Act.

Write short notes Any Four of the following :— / 20

(a) ‘Subsistence Allowance’ under I. E. (S. O.) Act.

(b) Unfair Labour Practices on the part of emp!oyer under M. R.T. U. and
P.U. L. P. Act. _

(c) Permanent Total Disablement under E. C. /lc* ’

(d) Model Standing Orders under . E. (S. O)Act

(e) Triple Test under |. D. Act.

(f) Authorities under M. R. T. U. and P. U.i.. P. Act.

Solve Any Two of the following :— 12
(@) A union in an industrial estabusnment has 60% of total workmen as
its members since last 10 months. It plans to apply for recognitionn under
M.R.T.U.and P. U. L. P. Act.
(i) Will that union succeed ? Why ?
(i) Which procediire has to be followed for getting recognltaon under
M.R.T.U.and P.U.L.P.

(b) Aworker in ming having heart disease. While coming out of the mine,
after four hours of work in the mine sweatened and died aside the mine
premise.

(i) Will the employer be liable to pay compensation ? Give reasons.
(iiy. Will any defence be available to employer ? Give reason.

(c) The workmen of Sriram Sugar Factory were employed during sugar
- crushing season only and consequent to closure of season they ceased
to work.
(i) Is it retrenchment ? Give reasons.
(i) Distinguish between closure and retrenchment ?

[ TURN OVER
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4. Answer Any Four of the following :— 48

(a) Explain the appointment, powers and functions of Commissioner under
E. C. Act.

(b) Discuss in detail the provisions relating to recognition and cancellation
of recognition under M. R. T. U. and P. U. L. P. Act.

(c) Define Strike and Lockout. Explain the provisions relating to Strike and
Lockout under I. D. Act. )

(d) Explain fully the concept of collective Bargaining along with its meri
and demerits. (ot

(e) Explain fully the procedure for certification of Standing Order under
[. E. (S. O.). Act. Write the provisions regarding certifying officer.

(f) Explain in detail the Authorities under I. D. Act. i
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Please check whether you have got the right qu

Q.1 Answer in not more than two sentences

1) Closure under Industrial Disputes Act, 1947
2) Give two grounds for declaring ‘Layoff’ under
3) What is the object of the Industrial Empioyrq‘"
4) Any Two duties of Labour court under M. &
5) Define partial disablement under Emplqyee Compensy
6) Period of limitation for filling claim up
7) What is the duty of conciliation offi
- 8) Any Two duties of Investigating
9) Works Committee under Indu t
10} Any two grounds for illegal |

Q.2 Write short notes on any four 20
1} Permanent disability.
2} Subsistence Allowance-un
3) Authorities under
4) Labour Court unde v
Strike and lock
nsation Act, 1923.

12
at sugar mill during crushing season only
swer:
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Q.4 Answer any four of the following

5)

Explain Industrial Dispute under Industrial Disputes Act, 1947 with
What are the different authorities Industrial Disputes Act, 19472 Briefl
the authorities?

What is occupational disease under Employees Compensa
of employer in such case .
What are the model Standing Orders? State the matter.
under Industrial Employment (Standing Order) Ac 19.4§

Discuss Unfair Labour Practices under M.RT.U &F PA
Explain in detail collective bargaining?

[p.T.0]
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_ 5 .
¥.1 UH aFd 3eay fogr v 30

t) MAAF fare s, ey 3799t g

) M e Frewe, exvy s FEEdy WWWW?
3) ﬂmmm(wmmmm $QYE T A FA? "‘,
¥) UA. 3R, &g oy o, g. Tq. d’ramar memﬂamm—ammm‘raﬁ—aﬂ
y) mmmmmrém ezqa\mmm mé‘rmmw’)

W
£
?Lmﬁwmiﬁaﬁafmmwmmmmmmw
‘34‘95”3 mmmmmwwmmmmm
H?ﬁajmmr mmmmvmm
3
[P.T.0)

EFDA1D4D6ES7C660B1 C6D7FE83C5B7CC



Q.P. Code :08440

q) AT FHREIT HAINATHTS! FTHaTd TS 2l 70Tl S 2

3 T quraell ST FETEAT SR Y9 aRuAA o O,y ar
aaraey HRAHY J3T FE AFAN AYA Wiged Fo

) UFH § TA. HR. &g, O Ff. . ud, e, Fue 3TchTd RIsH 9T 3med F17
FROT .

)m@wm@mmﬁmﬁﬁmﬁmmﬂmmmﬁﬁm
gfhar JHg & ?

9. 4 Gleleddedr Foradr ar fogr

t) Hefw fae s, ?qummﬁmﬁmﬁmﬁvﬁmﬂ%ﬁ
TAST AT

A

) e R w1, mﬁmmW s 'nna aﬂw o

EFDAID4D6ES7C660B1C6D7FE83CSB7CC

.14



Labour Laws
s S L

grs S
; » . (3 Hours)

Q1. Answer in not more than two sentences each,
* : a)  Define layoff?

b)  To which authority is the claim to recover mo

filed.
¢): Which court has Jurisdiction to grant recog {o]
. d)  Define partial permanent disablement?,: ;

€} What are the benefits given to a prote t‘edf-v;/orkiﬁ &
f) Investigating officer ig appointed
g  Whatis Contract of Service? :
h)  Whether workman are entitled
1)  Can the commissioner den ¢

e 3 Define Modification, .
b Y
L Q2. Attempt any four 20
S 1. Last come first g |
" 2 Payment of sub ? ’
Q3. 12
5 anding}’ Orders are in Vioiation of
1i5$Tble i
2 D¢ contrary to Mode] Standing
el W
uthority?

kman during duty hours to do his personal
g'the work, he sustained injuries on his hand
1€ to report for duties for 7 days.

Page 1 of 4 -~
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W

Workers resorted to strike in public utility services industry iz g
of them resorted to. violent demonstrations, acted in defiz
order and there were others who were merely silent specfat;
was declared to be illegal. ;
1) Can punishment of dismissal or termination be im
or only on those who fomented illegal strike and"
the maintenance of law & order?

1) Can a joint charge sheet be given to all
charge sheet be given to some of them,

Attempt any four.
Discuss modern theory of collectiy; “bargaining-an
disadvantages?

be industrial dispy%eg‘
Discuss the procedu

with case Taws

Page2 of 4
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[Time: 3 Hours]

Q.1 Answer in not more than two sentences each.
a) Define retrenchment?
b) What is the time limit to claim recover mone
¢) What is the time limit to file recognition o;
d) Define disablement?
Define continuous service‘7

20

Q3.4 12
dai] ssweeps & cleans the floor of the Temple. The Temple

ingrafnd cleaning the ﬂoor of the temple One day, Trustees

J4 he floor. The Temple has many shops & those are used for selling
emple also has rooms which are given to devotees coming from

ple an mdustry under the ID Act?

Page 10f4
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investigating officer was entitled to enter by “X”. v
i. Can “X” be punished under MRTU & PULP Act;

] theE ployees Compensation Act?
ng- officer in carrying out the modification of

Page 2 of 4
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Q.1

i)
i)

v | LZ/B. 5~W/L Jcm " %(g

L0111 & L0615/1L0110 LABOUR LAWS

Answer in Any One or Two sentences

What is modification under LE. (S.0.} Act, 19467
‘Commissioner’ under E.C. Act, means ...?
Define Retrenchment under 1.D. Act, 19477
Who is ‘Member’ under M.R.T.U. and P.U.L.P. Act%\
Write any two powers of certifying officer under}:E.
Can there be more than one recognized tradgamo{m

M.R.T.U. and P.U.L.P. Act? ATYS
Who publlshes ’Award' underl D. Act, 194

1923? ;
Who declares ‘lockout’ and who de
l.E. (5.0.) Act, 1946 applies to....

Short notes {(Any Four) 20

12

[P.T.0]
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¢} Discuss Unfair Labour practices under M.R.T.U. and P.U.L.

L0111 & L0615/L0110 LABOUR LAWS

o

T S
19498
P s

&

K

Write Any Four.

a) Explain in detail Authorities under 1.D. Act, 1947
b} Discuss fully concept of collective Bargaining.

d) Explain fully strike and lockout under 1.D. Act, 1947.
e} Explain in detail procedure for certification of standingfé@f &

oi T Sl

\1}3

[P.T.O]
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Q.1

Paper / Subject Code: 75701 / Labour Laws.

LLB Sew T 2ls1291g

B L’ Se¢rn- .
[Time: 3 Hours]

N.B:

Answer in one or two sentences.
a) Define ‘Appropriate Government’ under L.D
b) Define “Lay Off” under 1.D.Act, 1947.
c) Works committee under L.D. Act 1947.

(S.0.) Act, 19467 ,
f) Write any two powers of certifyingoffie
g) What is ‘modification’ under LE
h) Labour Court under 1.D. Act
1) Deﬁne ‘Total Dlsablement’:“

20)

B, 12
iy © the premises of the workplace
;ﬂed to enter by Mr. ABC.

Pagelof4
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Q. 4

- Paper / Subject Code: 75701 / Labour Laws.

work.
i) Is it retrenchment? Give reasons.
ii) What are the grounds for retrenchment under 1.D

Write any four.
a) Discuss fully concept of collective bargaini
b) Discuss fully on recognition, cancellatio :

contemplated in E. C. Act, 1923. .
d) What are Model Standing orders )
standing orders.

Page 2 of 4
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Paper / Subject Code: 75701 / Labour Laws,
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Paper/Sub_]ect Code 75811 /Labo‘ur Law

] @’/is 12022
'BM §Wr-;r, Cm 40)

: TIME ZHRS (TOTAL 60 MARKSE :

1. ALL QUESTIONS ARE COMPULSORY _ <
2 MARKS ARE INDICATED AGAINST EACH QUESTION

Ql Answer any six of the: followmg 1n not more than two sentences 3 (12 Marks)
1. What are the objectrve of the Industrral Drsputes Act, 1947‘? | ;
+ ’What 18" total dlsablement" under the Employees Compensatron Act 1923‘?
Who grants recognition to a trade unron under MRTU & PULP 197l &
Deﬁne "lay—off’ under the Industrral Drsputes Act, 1947 "
:::.What are "Model Standrng Orders" under the LE, (S O ) Act 1946‘)

= NS

‘f::Who ﬁles a farlure report to the approprrate Government under the Industrral Dlsputes
Act, 19477 : kg & e r :
e Mentron two functrons of the 1nvest1gat1ng ofﬁcer under the MRTU & PULP Act 1971 ‘
8‘.‘;‘-What are: the objectrve of LE. (S o. )Act, 19467 ; f '

: 9 What dre Public Ut1lrty Servrces under the ID Act, 1947‘7

10 Who represents the Workman ina case of unfalr labour practrce agarnst the employer? S
Q2. Write Short Notes on any two of the following: - : (12‘\Marksl) i

1. "Occupatronal Diseases “Under Employees Compensatron Act 1923
2 Amendment of cert1ﬁed standmg order under LE.(S. O )Act, 1946
o3 Notrce of Change under the Industrlal Drsputes Act 1947 .
v4 nghts and Dutres ofa recogmsed trade umon under MRTU & PULP 1971

__ 7,""Q3 Answer any two of the followmg : % ’ s A & ( 12 Marks)

L= Mr X was a driver Worklng for'a State Transport Corporatron hlS eyesrght became poor dueto
> drabetes The State Transport Corporatron termmates his servrces Wrthout retrenchment
compensatron ‘ ) ) " ‘
a) What 1s retrenchment compensatron’7 ‘ ;
b) Is the employer bound to pay retrenchment compensatron to the termrnated dnver‘? Give

reasons for your answer

1285 7 Pagetofa
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Pap‘er‘/'Subject'Code: 75811 /Labo:ur Law A

p4 Mr Z was an active member ofa trade union. The employer transfers him repeate edly to

: ﬂ'dlfferent locatlons Mr X wants to ﬁle a case agalnst such repeated transfers

a) What remedy is avallable to the employee under MRTU & PULP l97l

b) ‘Mention two protect1ons that are provrded to ofﬁce bearers of trade unlons

3 Mr. Z was employed ina factory makrng automobrle parts Safety gear to protect. the eyes was
provrded by the factory owner Durmg weldrng work, Mr Z 1nJured h1s eyes and’ lost srght in
»0ne eye desplte Wearrng protectrve gear. On mve trgatron, it was: _found that the safety gear was

‘Idefectrve

a) What is the'nature of the 'injury suffered by thve employee‘l
b) - Will the employee get compensa‘uon under the Employees Compensatlon Act, 19237 Give

Reasons for your answer

4. . A Workman was suspended for 1ndlsc1plrne and a domestlc enqulry is bemg conducted for the

same. The: enqurry has been ongorng for 6 months.

" a) Whlch law provrdes for an allowance in such cases?

b) How 1S such an allowance calculated"

Q4 Answer any two of the followmg e A 4 < (24 Marks )
1. EXplaln " 1llegal strlke" and "1llegal lockout" and their consequences under the MRTU and
- PULP Act, 19717 3 ‘ Ao o
R Explaln "Collectlve Bargalnlng" and 1ts role in creatlng a conduc1ve employer employee &

relatron k
3. Mentlon and explain the role of authorrtres set up under the Industrlal Dlspute Act, 1947 for

the settlement of an Industrial Dlspute

4, Explain the doctrlne of notronal extension and 1ts applrcatron under the Employee

_Compensatron Act 1923

sk ok oo ok o o
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Paper / Subject Code: 75811 / Labeur Law
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Paper / Subject Code: 75811 / Labour Law
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\C) %\(}g Paper / Subject Code: 75709 / Labour Law & Industrial Relations-I C‘ 00972 g 33)

Time: 2:30 Hours . Marks: 75
QI. Answer in One or Two Sentences (any 6) 12 Marks

1. What is the object of the Trade Union Act, 1926?

2. How many members are required for making the application for registration of the
Trade Union? \ ;

3. What is the Triple Test as laid down in the case of Bangalore Water Supply
v. A. Rajappa?

4. Mention any two duties of the Industrial Court under the MRTU & PULP Act, 1971.
5. State the duties of settlement authorities under the Industrial Dispute Act, 1947.
6. Who is an ‘Apprentice’ under The Apprentice Act, 1961?
7. What are the qualifications prescribed under The Apprentice Act, 1961 for being
engaged as an Apprentice?
8. Who is a ‘Member’ under the MRTU & PULP Act, 19717
Q2. Write Short Notes (any 2) 12 Marks
1. Contract of Apprenticeship
2. Factory under the Factories Act, 1948
3. International Labour Organization

4. Workman under the Industrial Dispute Act, 1947.
Q3. Solve the Following (Any 2) 12 Marks

1. XYZ Trade Union applies for registration of the trade union. This trade union
submitted all the required documents, still, the certificate of registration was refused.
a. Explain the legal requisites for providing certificate of registration or the
cancellation of the registration of the Trade Union?
b. What remedy is available to any aggrieved party for refusal of the registration of
the trade union?

2. Vishwa Kalyan Kamgar Sanghatana applied for recognition. It has 32% membership of
employees of the industry ‘Z’. Another trade union Shramik Kamgar Sangh has 29%
of membership of employees of the same industry ‘Z’. Both have applied for the
recognition.

a. Which Trade Union will get the recognition? Why?
b. State the legal criteria to provide the recognition to the Trade Unions by in
Maharashtra?

3. Inan industry Mr. B was an active member of a trade union. The employer changed the
conditions of service applicable for him related to one pendency of proceeding of
industrial dispute and repeatedly transferred him to different locations, due to his
activeness.

a. What remedy is available to Mr. B as an employee of the industry as per the
Industrial Dispute Act, 19472

b. Explain legal provisions provided to some employees among various trade unions
to protect their rights as per Industrial Dispute Act, 19477

22633 - Page 1of4
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(/La\(é'\(l/f5 Paper / Subject Code: 75709 / Labour Law & Industrial Relations-I

Pyts  Sem T

4. In PQR factory the apprentices are undergoing the training. Their health, safety and
welfare are the important criteria. Their working time is not fixed.

a. Explain the protection provided to all the apprentices under The Apprentices Act, 19617

b. State the working conditions provided to the apprentices by The Apprentices Act, 19612

Q4. Answer the Following (Any 3) 39 Marks

1. Discuss in detail regarding Registration of Trade Union under the Trade Union Act,
1926.

2. State the Welfare Provisions under the Factories act, 1948.

3. Discuss in detail regarding provisions applicable for Lay- off of the workers.

4. Analyze in detail about Illegal Strike and Lock-out under MRTU and PULP Act,
1971.

5. Explain the term “Collective Bargaining”. What are its advantages and

b

disadvantages?

3k 3k 3k ok sk sk sk ok ok ok okok sk sk
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